-

-Lﬂ‘ﬂiiﬁ‘“ Theorem ;-
o) BRI

\ U
X =rear+l ca) (x-a) Ti’ea -a)*"
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X_ | = ' CC)36T~9
e = = '
+ X + X erors oy 3 J/
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ﬁ\ = PU(\ 'S di

)

nous on  Ta b
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the. ervor 1S Ep =P -p™ .
the. velative exvor Re= Ep . p_p"
p

nr——

P
X~ Lo let x = 2.1415q 2. 5.
x5 By i ol e
Ex= SIHIBAL -3 = 0.0015q2
Rx= 0201892 5 s00503 |

3.41%9492
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| Ey=H4H ¢ ' | =
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Z = 6.000,009

R’.Z;'—. 0.2%

Lormalized dedimal. Form:-
* 0.dhdadz --- x10"
di 0

(415 .
— 5

7. . 125 . - '
2, = L:ivit_b_ = LIXS = oyzs# 10
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2. Sigm'-ﬁganh oligii:s =3 Errows\é
Deg',- the, numioe é\ \S SO.ld to QPP‘T}Xl mate, P Yo A Sign].F‘C’QV\b
disits L d s the lqrgeslr positive. iﬂ’f"ifgjﬁr'. Fov whidy
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e o |Rel 2159
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S;_P_ (.'P) =t Od\d'l. e C’)l\‘i‘_, * |Dn ) ‘ %
C\mp

the jgth digit round off Floating {a_oih"r

) (P) =+ 0.didz - dig L ¥ 10"
round |
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fe)p.rcs&ﬂ‘ra‘n'oﬁ ok pis

'

« P o-\zzqz‘uquqqg
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CEPY = 61235
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_5,, - i _LL N ) oL - ] - .
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R T 1
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Evror = W A 0Ch™) -
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TR IR & 16
. l‘ . '-qu" 5
Evror= C h3= 00h?)
0.
[=A = r .\ 'anj f
= \. 109
Errar ay, C (o) X

=, C{o.00l) &0
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1.029 # 0.1335 = 1.15683 2 1158

' ~h3 Wi vrov QCh®
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ASSum 4 Len | | 7
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| T_ < M 'FOYT,%Y}’@H h,
we. - §

Y. P lh) approximate. £h) with or&p

O(h") ond  we write Ph) = ph) + O Lh') ot %Prﬁx{fhdff.on

1R - Pl MW
fih) =Bh) 25 C D

- Show ’rha'(; plh)=14+h es-hmwl:& 0? ‘QU’\)-& ua\‘ch
| ardes~ o(h2)
oy
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= | . (t )divarg&r\g
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Show that

- 8inh = "L-—._\_fl_?’“.'r OLH&)
. Ry

a- § b
2orthl= 2 fi x4 o (1)

Theorgs. S
0ssume  that Lth) = PChY 4 0Ch)
3h = Alh) 4 OCh™)

o
e BT Leyny

then
Fth)+ )

=Bk QUh) o 0 (W
" o Sth)+ 0 (h )
Driy

= PLh) Qih) + 0l
T Lnj

W : L;L(_hh)) --tOUﬁr‘) - &LHL%U\)-%O.

(‘\.

QX e
BUh) = th)+ 0Ch?)

ECh) = PU) | g(h?)
Yhy gny

CE_.X'.A ( logs 0£ ngm'rz‘canfj
RO = X (Vg " v )

g(.f):: X

————

Vi + Uy~
its Orthmatic and Yound ko Sind PCSoo) -‘
Pson)= boo (Vg - Vgtm)

= 500(22.3836 . 22.36073)

P

= EDD(O;O2ZS$00) = 1. t500 .

Use, 6 dfg
4 [600)
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3 E’Xampgg
56\\!& X sinx="! E

PO = X sinx-l
Clo)=-t |
m;ﬂ. 0 81‘86QH86
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Flooy - Plao)

R - 6.818444 85 (A-0 = t.099F5017 .
G- RITSAY s~ (1)
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= ~0:0d066101D
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?Cu): s.o0qa3Yyy,

= a- 0:81959"1—{35(9
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G 8IESQUBS — (-0, oaomcrfé))
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sSection 9 1

Fiied point {Heration

;To Solve fuy=o we Solle X;-gcx) Ewhe/re, Fooy =¥ ~g)u)}
L Fixed poinkl
vie to Find . the roots of F v we Vind H’\&FU\QO[ point of g ).

,__Jb__ p i< a 'leeo’ pou’ﬂ- OFS \ﬂ) %(P)"

L gu= L
Vixed Po:mLs -t
JP) = p

—J—““{S “-—-‘b@zx\ =2 P=

AQD I =x%X+1 . No Fixed ponts

B Q=X all points Gfe Yixed poinds

W =X

ped. bixed poiot itevution:-
Stort with R, E}H, APy > N=0.L 2,3,
= %(Fi:
Pzﬂ(g((bl)

\
E

m

i+ the ‘Fsked doink i Hreration Qonverges to P, then P s the Frxed
Point of S |

-
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" e -fp‘\\m Bap= N0 3UP0) =G i )= Gtp)

( h “'ﬁ%

A ﬁ(ﬁ 5 "
[\-H %(P}f\} ‘L‘r_i:&

Exaﬁ’}lé]e g:_

Solve. w2 _ox-Z-g = )= g

(X-2) x4+ =0 .

223
X% oxy
Ximﬂgoﬂ.
Y R=y
.._'P QY= gRy=V'=
= QR =
Ps*’ 2.034 39
Py = 3, ollgy

Pr\ —bd3

[,

WAL x5O
ci!\k:w%a!’\ce‘,.

BN O -
K= X3 =) -
= d
Po=y _
By = g)=6.5
Po = g l6.5)= 14625
Py = 1Gl.07F
X(X-2Y= 3 o X = B
- X2
PQ':-:('l
B = %LLH: 32—_*: LS,
Pl-:;""é
Py = —0:395
Py= -1.26315 .
Pe, = - 0.019 3585
Pe= —1089762

STUSEﬁféﬁﬁi%m

- QU3 3n662)= \l@éggi = 31055

2.31662

o Note. Yok 3 s a fixed polnt af
= ﬁ’mg because Jlay=3

= %U{) -
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Theorem;. (§ixed poind Theotemn T)

Ossume & clab] jf guy €Laib] for all x &la vl then g has o

Tixed point {n [a b} Fuddhermore. i “rgj\cx)‘ < is<y forap X €(aib)
then Q has o Onique Tixeol poink .

Proof’s

?t- glal = or g][.b'}:i:s - Done .
iy fiort Qa)>a and Qo) <o
teb V= qul =X - e Condinous -
ia) = Qlay -3 >0
n(p) = Gl - =0 |
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T USINGT Meam v o "
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| D

2 -
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SO S N TR
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ASsome. Hat gy !
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P g e : S S0en in this inderyar
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) N { . .
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qx) >t

invastigale the nature. of the ¥£T and show Yoty GNSWEr by €Xamples

for
o= 14X - x2

Solution -

~J
i
L

X |
X= 18 [ Vixd poinks)

2. . '
'\%‘(2)5 A Y C‘onud\“gance_ Yixed »poinb . {oHradive Yixed F.oir\gx

46 Show. Thak v
ek =16,
By = Que) = 1196
Py = (106 = 1:996 .
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Py = gas) |
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ab X = -2 |
Y@eet 19'Cyl= 2> divage —» YPLAVAgE  (Repuisive Tixed |

| " Point)
’ PD-:_ —'2.0%. .
= %L"Q'Cf:)}.: 2 -~
P = %L"z'l\: "2‘2.
3 . - ¥
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Sroof'- y by moan Valye
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SRR SR I f Rt
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B~ 199357
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B

Fu -
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L9335
VYo e f‘i’-r@\f‘{gfﬁ?&’
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/e
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X3 gy } Ho

- X2
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XT ~3x 4 - 2%
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-2 X4 2, o
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